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QUESTION 1

In which of the following scenarios is sharding not the correct option. Select all that apply.
A. The write operations on the collection are low

B. The write operations on the collection are very high

C. The working set in the collection is expected to grow very large in size

D. The collection is a read intensive collection with less working set

Correct Answer: AD

QUESTION 2

The operator can be used to identify an element in the array to be updated without explicitly specifying the
position of the element.

A. $ elemMatch

B. $slice

C. Updating an array field without knowing its index is not possible.
D.$

Correct Answer: D

QUESTION 3

Which mongodb tool is used to report details on number of database operations in MongoDB?
A. mongostat

B. mongotop

C. mongorestore

D. mongodump

Correct Answer: A

QUESTION 4

Which of the following statements are true about the $match pipeline operator? Check all that apply.
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A. You should use it early as possible in the pipeline
B. It can be used as many time as needed.
C. It has a sintax similar to findQ commands.

Correct Answer: ABC

QUESTION 5

Which of the tags in a replica set configuration specify the operations to be read from the node with the least network
latency?

A. netLatency

B. secondaryPreferred
C. nearest

D. primaryPreferred

Correct Answer: C

QUESTION 6

Consider a collection posts which has fields: Jd, post_text, post_author, post_timestamp, post_tags etc. Which of the
following query retrieves ONLY the key named post_text from the first document retrieved?

A. db.posts.finOne({},{_id:0, post_text:1})
B. db.posts.findOne({post_text: 1})

C. db.posts.find({},{_id:Of post_text:1})
D. db.posts.finOne? {post_text:l})

Correct Answer: A

QUESTION 7

Which of the following are valid json documents? Select all that apply.

A {"a"l, "b"{"b"l, "c":"foo", "d":"bar", "e"[l,2,4]}}

B. {"city":"New York", "population”, 7999034, boros:{"queens", "manhattan”, "staten island", "the bronx", u "brooklyn"}}
C. {"name":"Fred Flintstone";"occupation™:"Miner";"wife":"Wilma"}

D.{}

Correct Answer: AD
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QUESTION 8

In a sharded replica set environment, the w Option provides ability for write concern and j Option provides
ability for the data to be written on disk journal. Consider that we have a seven member replica set and we
want to assure that the writes are committed to journal.

What should be the value of j?

Al

B.2

C.0

D.7

Correct Answer: B

QUESTION 9

What does the following $slice query return using the following command? db.posts.find( {}, { comments: { $slice: [ -10,

51iH)

A. Returns 5 comments, beginning with the last 10 items
B. Returns 10 comments, beginning with the last
C. Returns 10 comments, beginning with the first
D. Returns 5 comments, beginning with the first 10 items

Correct Answer: A

QUESTION 10

MongoDB is a schema-less design.
A. False

B. True

Correct Answer: B

QUESTION 11

Which of the following node is used during election in a replication cluster?
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A. primary

B. arbiter

C. hidden

D. secondary

Correct Answer: B

QUESTION 12

Which of the following index would be optimum for the query?

Select all valid. db.test.find({a: 5, c: 2}) A. db.test.ensurelndex( { c:l, a: 1})
B. db.test.ensurelndex({a:1,c:1,d:1,b:1})

C. CH db.test.ensurelndex( { a :1, c:l})

D. db.test.ensurelndex({ a: 1, b :1, c:l, d:I})

Correct Answer: BC

QUESTION 13

The oplog (operations log) is a special capped collection that keeps a rolling record of all operations that modify the data
stored in your databases. All the replica set members contain a copy of the oplog in the following collection:

A. .oplog.rs

B. oplog.rs

C. ..oplog.rs

D. local.oplog.rs

Correct Answer: D

QUESTION 14

Which of the following command is used to get all the indexes on a collection?
A. db.collection.showIndexes()

B. db.collection.findindexes()

C. db.showlIndexes()

D. db.collection.getindexesQ
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Correct Answer: D

QUESTION 15

What is the equivalent command in MongoDB for the following SQL query? SELECT * FROM posts WHERE author like
"%john%"

A. db.posts.find( { author: /John/ })

B. db.posts.find( { author: /AjohnA/ >)

C. db.posts.find( { $like: {author: /John/} })
D. db.posts.find( { author: {$like: /John/} })

Correct Answer: A
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